1 FH 80 7kA 9] Al Fol A 80 ¥ FeF7 1 ARl

WAA] +stofzt.

™
=

rr

> = A

> ®HE 32 7

B \
802 AQlollolH 80 = 24 x 5

807t k47t 1 7] Q1 4= 2 O] Mk ofY 3 5 O] 4=kt obd
ZolBg

80 — (29 Hli=9] 7l4) — (59 Hi==9] 7<)

+ (109] ¥i4=2] 7H4=) = 80 — 40 — 16 + 8 = 32 (7H)




F QG A, B2 AeFNGAH T L T, OHE F A, B O] BT
b 5127

[e]

[

@ 17 @ 34 ® 51 @62 ©® 85

5 o] Moo WjSSo] 4o Fujsolng, 17 o

Hl4= 17,34, 51, 68, 85, -7} ofd AL 62 o]t}




3.

Al 49, 18, 27 o] FHIG 5 500 ©]5Fe] A= T B AQ17E?

®3A @54 @1AH @A O uA

9, 18, 27 o] FHiF= X AFHlS 54 9] Hjgo] B2 500 0|5}
AAPL= 500+ 54 =9---14 0|2 & 9 Fjjo]t},




o|J

o}
olig
Nfo

op

)

ol

® 5 47 Hzzel

B

o]},

5t

@ F7H 1 3 A7) =

®2xEF
@1

o
~—




@ 3 3)5 @ 6 ® 12

1

1,2,3,4,6,12 o[tk




6. Al $2x32x5, 22x3x7, 22x5x7 9 HATuLFE?

D 23x52x7 @ 2x3x52 ® 25x32x5
@ 22x32x5x7 (@)23><32x5><7

2x32x%x5, 22x3x7, 22x5x7T
HAFHG: 22 %32 x5 7T




7. 6xx 8xx 10xx o HAFu47F 720 ot & uff, x o] g
AupRIZE? (&, x += & 2] 9] ApA4=olt})

2x3xx, 22xx, 2x5xx o HAFTHTE 2 x3x5xx =
720 = 24 x 32 x 5 o|t}.
T x=2X3=6




24, 32 O HRFF4E?

@ 22 @ 3 @23
@ 22x3 ® 2x3

24 =23 x 3, 32 = 25 0| L2 |t F ot 23




9. A AA422xA4,2x3xA,32xA 2 HATHLTF108 ¥ o, A ZHE
“Fofof et

Al ZFAZ=0] HAZu|7F 108 ©] 1, 108 = 22 x 33 0|2 &
22%xA,2x3%A,32xA 0 HAaFuj5et 22x33 7 Zod Ht
22 %xA,2x3%xA,32xA 9 AAFHSLE 2x32xA0EE
22 x 33 @} H|WSHH A = 3 o]t}




10. the 2788 BE WESHE 4% 0 F 7P AL 48 otele
(1)n 2 5 o] W42l A 2te] ZpAZolet.
(2)n 7 168 ©] HTh@oR 24 o] e,
(3)n & 15 2 e ofd Aeso] AlF47t fe,

[
=

>
> =t 240

S5
(1) n &5 9 vl Al 2] Adgolth. - n 25 9 Q1
HEil=g
(2) n 2+ 168 O] F|t)-5-2F+= 24 o]t
168 =23x3x7,24=25x3 5n22x32A5E 71211
7L Q57 JR|A] ¢k=
(3)n < 15 2 W5 of B AA49] AlF47} Het
15=3x5—> n< ¢4 3,5 o] A7t E5-0]aL Y] Q149
A= =

il

)

$=24x3 x5 =240




